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With the development of a new drug,
a road to complete recovery has been opened for
those with the fatal illness
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Statistical Hypothesis
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Tossup Problem

The Number of Trials m
Success Probability m

Iteration Random N HorT N of Head N of Tail

1 0.443862| Head 1 0

0.272947 | Head 2 0
3 0.872547 Tail 2 1
4 0.750688 Tail 2 2
5 0.272942 | Head 3 2
6 0.673647 Tail 3 3
7 0.256629 | Head 4 3
8 0.089897 | Head 5 3
9 0.030951| Head 6 3
10 0.322718 | Head 7 3
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Alternative Hypothesis
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With the development of a new drug,
a road to complete recovery has been opened for
those with the fatal illness
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Just Do It!
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Let's Go For It!



Tossup Problem

The Number of Trials
Success Probability m

Iteration Random N HorT N of Head N of Tail

1 0.443862| Head 1 0

0.272947 | Head 2 0
3 0.872547 Tail 2 1
4 0.7506388 Tail 2 2
5 0.272942 | Head 3 2
6 0.673647 Tail 3 3
7 0.256629 | Head 4 3
8 0.089897 | Head 5 3
9 0.030951| Head 6 3
10 0.322718| Head 7 3
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Sub Buttonl_Click()
/ IT = Cells(4, 4)
P = Celils(5, 4)

Head = 0
Tail=0

Worksheets("Sheetl").Range("A11:IV65535").ClearContents
/ Fori=1To IT

Temp = Rnd()
~— If Temp < P Then

Result = "Head"
Head = Head + 1

Else

Result = "Tail"

Tail=Tail + 1
~~ End If

Cells(10 +i, 1) =i
Cells(10 + i, 2) = Temp
Cells(10 + i, 3) = Result
Cells(10 + i, 4) = Head
Cells(10 + i, 5) = Tail

K Next i

\ End Sub
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Binomial Distribution
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